Swedcom

Lorporation

Antenna Down-tilt Mounting Bracket

120 Setting
—6° Setting
0° Setting

SB 04L-12 Bracket

1) Clampwill adjustfor upto3” O.D. pipe.
2) AdjustsOne[1°] degreeper hole.
3) All materid isHot Dipped Gavanized (HDG)

4) Pleaseusenutsfrom antennato attach antennato
down-tilt bracket (SB 04L-12 Bracket).

5) TheSB 04L - 12 Bracket will fit thefollowing

Swedcom antennas;
SP-E 8515 SPW 8515
SP-E8515T2 S| 8016
SP-E8515T4

BILL OF MATERIAL

Part no./ Description
04L-01 Longwelded clamp
04L-02 Short U-bracket
04L-03 Short welded clamp
04L-04 Long U-bracket
04L-12 Side bar
04L-05V-clamp

3/8x 4" tap bolt L
3/8x 1" tap bolt —
3/8" hex nut

3/8” lock washer

Item

&

oORNNNRFRRF P

=

Bloo~Noouhwhk

=
oo

1075 Old County Road, SuiteC Phone: (650) 620-9420 www.swedcom.com
Belmont, CA 94002 Fax: (650) 620-9281 info@swedcom.com



